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8. The Skylon Tower in Niagara Falls is about 160 m high. From a certain
distance, Frankie measures the angle of elevation to the top of the tower to P ' CT

St 1S

be 65°. Then he walks another 20 m away from the tower in the same direction
and measures the angle of elevation again. Use primary trigonometric ratios

to determine the measure of the new angle of elevation.
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@teke&mping ladder has a pair of
aluminum struts, called ladder
C ra él Ba j stabilizers, and a base. What is the
O S S ——J( C angle between the base and the
C C\A T ladder?
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( O S ( \g\ >a 13. A hydro pole needs two guy wires for support. What angle does each wire
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14. A land survey shows that a triangular plot of la nd has side lengths 2.5 miles,
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